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الـمحاضرة الحادية عشر
Language and identity

What do we mean by linguistic identity?
Identity is something which we are constantly building and negotiating through our interaction with others.
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 Names can cause problems. الأسماء يمكن أن تتسبب بمشاكل
Names can cause problems, particularly if they don’t fit in with the conventions of a community.
يمكن للأسماء أن تسبب مشاكل ولا سيما إذا كانت لا تتناسب مع اعراف المجتمع.
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الاسئلة
سؤال عن اسباب استخدام الهوية اللغوية 
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سؤال عن الفروقات الواضحة في طريقة الكلام تكون في :
[image: C:\Users\USER1\Desktop\جامعة\اللغة الاجتماعي\اختبارات\مهم\توزيع\11\d.png]

سؤال عن تجاهل نظام النطق بالأسماء قد يؤدي الى نوع من : 
عدم القبول ويمكن ان يفهم أنه إهانة 
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سؤال عن الهند وكيف يسمون ابنائهم , متكرر
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سؤال عن الاسماء وانها قد تسبب مشاكل – متكرر
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(40)Speakers tend to use their linguistic identity in order ........
(A)to disguise their membership of a particular social or regional group.
(B) to distance themselves from a particular social or regional group.

(C) to move closer to another group they want to belong to.
(D) All the above.
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23- The most obvious difference in the way people speak is in their ....
A. accentand dialect

B. social class and education

D. none of the above
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25- To disregard the rules of the system of address can lead to some form of
A. approval or can be interpreted as a complement
B. disproval or cannot be interpreted as an insult

D. disestablishment or can be interpreted as an implant
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(24)Inthe ......... religion, a child was given two names. The first name was believed to give
the child strength and the second was believed to protect the child.
(A) Hindu.
(B) Muslim
(C) Christian
(D) Jewish
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- (9) In the Hindu religion, a child can be given two names; the first name was believed.......
(A)to give the child weakness and the second was believed to kill him

(B) to give the child a present and the second was believed to attack him.

(C) to give the child the seventh present and the second was believed to defend him.

)to give the child strength and the second was believed to protect him.
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24- Choose the correct sentence :

A. Names cause no proclaims, particularly if they don’t fit in with the ... ( not clear )

B. Names can cause problems, if they fit in with the conventions of a community

C. Names can cause problems, if they don’t fit in with the universal conventions of a community
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(28)Names can cause problems, particularly if they

,,'VJTV(A) don’t fit%in with the consumption of a commodity.
*__(B)fit in with the conventions of a community.

,‘\'\’©don’t fit in with the conventions of a community.
: /’\(D) don’t fit in with the convers'wné of immunity.
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(36)Names can cause problems, particularly if they ...... with the conventions of a community
(A) don’t fit in.
(B) conform
(C) agree
(D)are very long.
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